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CIN; ik CIN; i S LR - LB

(1 BE¥%KE] 85,638 (m) |[1 B 45K E] 269,101 (m) |[1 8% K=E] 427,413 (m)

Rk Rk Rk

= =K Ty E1%k == =K Ty E1%k = &I Ty 1%

POFEVRUEZDILEY <0.0002  <0.0002  <0.0002 4 <0.0002  <0.0002  <0.0002 4 <0.0002  <0.0002 <0.0002 4
IV RUEDILEY <0.0002  <0.0002  <0.0002 4 <0.0002  <0.0002  <0.0002 4 <0.0002  <0.0002 <0.0002 4
9TV RUEDILEY 0.001 <0.001 <0.001 4 0.001 <0.001 <0.001 4 0.001 <0.001 <0.001 4
1,2—YHONIAY <0.0002  <0.0002  <0.0002 4 <0.0002  <0.0002  <0.0002 4 <0.0002  <0.0002 <0.0002 4
LIV <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4
TRIVEEY 2—IFIAFVIL) <0005  <0.005 <0.005 4 <0.005 <0.005 <0.005 4 <0.005 <0.005 <0.005 4
HiIE R
ZEibiE R
Jhoo7e b= bk
#kHo5-Ib
BEE 0.01 0.00 0.00 12 0.01 0.00 0.00 12 0.00 0.00 0.00 12
RRIER
picd 3o
1,1,1—M)HonIaY <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4
AFIV—t—FFII—TFIL(MTBE) <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4
BRMEGRIVI VBN LEER)
R5GAE (TON) 2 <1 <1 52 3 2 2 52 2 1 1 52
EREGYTUTIEER)
HEEERE 180000 14000 45667 12 970000 15000 121083 12 160000 6700 60392 12
1,1—ybonIFlby <00010  <0.0010  <0.0010 4 <0.0010  <0.0010  <0.0010 4 <0.0010  <0.0010 <0.0010 4
KR (°C) 243 76 16.0 243 254 8.2 16.6 243 26.3 95 17.3 243
TUEITREER 0.04 <0.02 <0.02 12 <0.02 <0.02 <0.02 12 <0.02 <0.02 <0.02 12
EYLFRIEERERE(BOD)
LB R ERE(COD)
LA R (UV)IR S BE(50mm T2 )L {5 F B ) 0.153 0.053 0.078 52 0.152 0.056 0.080 52 0.194 0.059 0.079 52
FAEME(SS)
(o3 gkd i 3040
L2ER
EDV
VIBRAAY
RINOXD 4 FRRE 0.038 0.011 0.024 4 0.038 0.011 0.024 4 0.036 0.011 0.020 4
£ (n/ml)
PIHIE 65.0 440 57.1 52 66.0 420 575 52 60.0 420 52.7 52
BEBR
il S 9.8 8.8 9.3 4 9.8 8.8 9.3 4 9.8 8.8 9.3 4
BT
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CIN; ik =K (BiR) =K (BiR)

(1 BE¥%KE] 232,174 (m) |[1 BF 5% KE] 105,281 (m) |[1 B F %K E] 492,303 ()

Rk Rk Rk

= =K Ty E1%k == =K Ty E1%k = &I Ty 1%

POFEVRUEZDILEY <0.0002  <0.0002  <0.0002 4 <0.0003  <0.0003  <0.0003 4 <0.0001  <0.0001 <0.0001 2
IV RUEDILEY <0.0002  <0.0002  <0.0002 4 <0.0002  <0.0002  <0.0002 4 <0.0001  <0.0001 <0.0001 2
29TV RUEDILE <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4 0.003 0.001 0.002 2
1,2—YHONIAY <0.0002  <0.0002  <0.0002 4 <0.0001  <0.0001 <0.0001 4 <0.0001  <0.0001 <0.0001 2
LIV <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 2
TRIVEEY 2—IFIAFVIL) <0005  <0.005 <0.005 4 <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 2
HiIE R
ZEibiE R
Jhoo7e b= bk <0.001 <0.001 <0.001 2
#kHo5-Ib <0.001 <0.001 <0.001 2
BEE 0.06 0.00 0.01 12 0.01 <0.01 <0.01 4 0.03 0.00 0.01 6
RRIER
picd 3o 1.2 0.9 1.0 4
1,1,1—M)HonIaY <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 2
AFIV—t—FFII—TFIL(MTBE) <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 2
BRMEGRIVI VBN LEER)
R5GAE (TON) 2 <1 1 52 3 3 3 12 3 1 1 243
EREGYTUTIEER) -05 -0.8 -0.7 4
HEEERE 160000 16000 57083 12 250000 40000 100000 12 110000 9700 58000 4
1,1—=YHOAIFLy <00010  <0.0010  <0.0010 4 <0.0001  <0.0001 <0.0001 4 <0.0001  <0.0001 <0.0001 2
KR (°C) 25.2 75 16.2 243 26.2 8.3 16.0 12 27.2 6.7 16.4 243
TUEITREER 0.07 <0.02 <0.02 12 0.03 <0.02 <0.02 12 0.03 <0.01 0.01 52
EYLFRIEERERE(BOD) 1.3 0.4 0.8 12
LB R ERE(COD)
SEIMRUV)IR S EE(50mmt )L (5 FRBY) 0.148 0.055 0.081 52
FAEME(SS)
(o3 gkd i 3040
L2ER
EDV
VIBRAAY
FMINOXAD A RLRE 0.034 0.010 0.019 4 0.026 0.017 0.020 4
£ (n/ml) 6562.0 1572.0 3966.7 12 6582.0 368.0 1943.0 52
PIHIE 58.0 420 50.6 52 58.0 45.0 53.0 12 64.0 46.0 55.0 52
BEBR 10.0 7.1 9.1 12
il S 14.0 13.0 13.3 4 16.0 11.0 14.0 12 16.0 13.0 15.0 4
BT




